[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |

~ 05 r r r ~ 0.0%

Y : : :

©0.45 .009
0.4 : : : .008

0.35F+---+-+- R oo .007

fakerat

auplicajessatevs

0.3F e e e .006
0.25F -+ o+ R e IR 0.005
0.2F e R R RRESRRRRRRERES 0.004

015+ ST P PR 0.003
; : : 0.002
0.001

T T[T T [T [T [ IT T [ IT T ey

Ratio
T

1 10 0?
track ref. point r (cn%)
ugm CRF_S0ftQCD

M_mkFit_softQCD
Fake rate vs D

M”mkFit_softQCD-newTr2
~n0.05 . : : 7 : ~ 0.02p . . . : : ~ 0.0

o Eiooio i1 o F bbb o E i1 ib
e A S MR S O AR AL ARl S T N
N R PR STSTOTE SRS b IR R O H 1 SRR SERR R Pl CRITS SRR B.00BF -+ rheeer e e
N A T § g F ooroorop s E i
8.035F---- Do AR v T %-014_— """ T T AR P @.007:— ------ T T v AR
o . ¥ . y . Q o . . . . N o E N . . .

0,03 ereherseeeffpecneesdienee fleeeeeedeneens O R SRAALE SAR LIEEE R A A
U } ----- R | SRR B e Rl Sttt] [ S S T T R S SIS R
0.02F -5+ttt

: T T o e e e e T o e
0015 AR 0006k - RS RS SR SR S

00t T R I 0002 oo
ooust WML 0002 MM ''''' OO

o

Ratio

B |
Ratio
T

30 20 10 0 10 20 30 30 20 -10 0 10 20 30 3020 —10 0 10 20 30
track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

[ Fakeratevs.simPVz | [ Duplicates Rate vs sim PV 7 | [Pileup rate vs. sim PV z |
~0.05 - - " " " " " ~ 0.02— - " " " T T T T ~ 0.0
> : : : : : : : > T S S > : : : : :
80,045+ +-beehes by e 30,018+ eire e b 30,009+ +rreeh e

So.0s e L e ot T L S S S s St e
%035 SRS 2 SRS D014 oo . -Yoluy USSP SR SRS
Q . . . . Q o . . . . . N QL o N N . .
£0.03 R N T T - X S Lot TESIE SRS SRS
2 S PO N T O SO U A : R SO SOV O S
2.025 ARNATII: B ik A S S St I S A S S
0.02 SRR 100 B D.008F -+ hreefeee bbb 11 SN S SR ST S
i 3 . . > . . . . . . o . . . .
0.015 Lol R OIS o AN AN O O Y. S RS SO SR SO B
0.01 TR AR TE 11 EERREIRR 0.004f - nedeeniorssbonadonsd 0.002F+++++-i-e-ex- ERRRRES AERTRRE: e deeens
0.005 RN | ERERRIRN 0.002F 0.00TE+ -+ eeeesesse e
o ¢] | | TS T U [ S T o opt o Q_:_'..'..'..i..'..'..'..i..'..'..'..i..'..'..'..i..'..'..'....'..'..'.
£~ S N N | A = 5 : : : : :
d | : + I A  f : : : : :
s T + """ 08 A S A
ST 0.6F i
0

Do SIE=6 50 b5 10 15 20 -10-8 =6 -4-2 0 2 4 6 8 10 %60 =40 20 0 20 40 60
Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


